<owl:Class rdf:ID=""IEFM & A TR

HRiaER>
<rdfs:label> R FF & N A TR e
Ef</rdfs1abel>

<rdfs:subClassOf rdfiresource="# & {&
REEMETERE (EHEAERHRS) " />
</owl:Class>
<owl:Class rdf: ID="{REE MBI A E">

<rdfs:label> & & & #k &) m H &
</rdfs:label>

<rdfs:subClassOf rdfiresource="# [E &
AIEEBHEE" >

<rdfs:subClassOf>

<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:resource="#has_# st OFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>

<owl:Restriction>

<owl:onProperty rdf:resource="#has_

et ofERE" >
<owl:allValuesFrom rdfiresource="#
TRERRLE" 1>
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf ID="fREEMEIMFALTHRE
s
<rdfsilabel> R EBEMEBRMALEFREE
</rdfs:label>
<rdfs:subClassOf rdfiresource="# {# &
EaEEN AL />
</owl:Class>
<owl:Class rdf: ID="35 G EREHFAE">
<rdfs:label> 35 ] & 3 % 5t A &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# £
BEHER" />
<rdfs:subClassOf>
<owl:Restriction>
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<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:resource="#has_ st DOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
Bt OFELE"/>
<owl:allValuesFrom rdfiresource="#
RERFLET" 1>
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf ID="55RIE EEREHE">
<rdfs:label> 55 1 & 3 E & 0 &
</rdfs:label>
<rdfs:subClassOf rdf:resource="# &5 i
EESEAE" >
</owl:Class>
<owl:Class rdf: ID="f% & Z">
<rdfs:label>#% & ZE</rdfs:label>
<rdfs:subClassOf rdf:resource="# &5
BEERREE >
</owl:Class>
<owl:Class rdf: ID="FZEFTE">
<rdfs:label>FEZE£FTZE </rdfslabel>
<rdfs:subClassOf rdf:resource="# 55 fif
EEERRAE S~
</owl:Class>
<owl:Class rdf: ID="FI|FHEZE">
<rdfs:label>¥| & ZE</rdfs:label>
<rdfs:subClassOf rdf:resource="# &5 %
EEEERE" >
</owl:Class>
<owl:Class rdf: ID="#% A\FFRE#E_H%E
EaRs>
<rdfs:label># A\FHE# - S EHERE
</rdfs:label>
<rdfs:subClassOf rdfiresource="# 5 [t
BEMEHAE" >

</owl:Class>



<owl:Class rdf:ID="F|F K ZE">
<rdfs:label>F| A IR E</rdfs:1abel>
<rdfs:subClassOf rdfiresource="# & A
SHRIE# SRIEERE >
</owl:Class>
<owl:Class rdf:ID="3EZ&Ef & H Z=">
<rdfs:label>ZE K8 J& H E</rdfs:label>
<rdfs:subClassOf rdfiresource="#EFEf_
R ER_EAImAE" />
</owl:Class>
<owl:Class rdf: ID="% AMrEEERE">
<rdfsilabel> # AN & B F % % &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# % &
BRtE" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_FLEtOFELEE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
BEEFOFEZE"/>
<owl:allValuesFrom rdf:resource="#
JE AR >
</owl:Restriction>
</rdfs:subClassOf>
<fowl:Class>
<owl:Class rdf:ID="#ist+FH#E">
<rdfs:label>#t 5t A& </rdfs:label>
</owl:Class>
<owl:Class rdf: ID="1EEE">
<rdfs:label>Ht & </rdfs:label>
<rdfs:subClassOf rdf:resource="# # —
B RIRE" />
</owl:Class>
<owl:Class rdf:ID="}Es%">
<rdfs:label>ffigk </rdfs:label>
<rdfs:subClassOf rdf:resource="# 4 —
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B RRAE" />

</owl:Class>

<owl:Class rdf:-ID="[Eff">
<rdfs:label>Ekfi</rdfs:label>
<rdfs:subClassOf rdfiresource="# 1t &

">

</owl:Class>

<owl:Class rdf:ID="t&F} Efi">
<rdfs'label>1E £ EHli</rdfs:label>
<rdfs:subClassOf rdfiresource="# it &

z" >

</owl:Class>

<owl:Class rdf:ID="3L¥/|&fi">
<rdfs:label>ZEH|ff</rdfs1abel>
<rdfs:subClassOf rdfiresource="# it &

Ez" >

</owl:Class>

<owl:Class rdf:ID="—#&Z2EFT_JHFz">

<rdfs:label> — f% 2 ¥ BT 7w Br
</rdfs:label>

<rdfs:subClassOf rdf:resource="#fz%"
/>

<fowl:Class>
<owl:Class rdf:ID="/1#_fEALHEz%">
<rdfs:label>/1 & - BALHEFR </rdfslabel>
<rdfs:subClassOf rdf:resource="#/fiz%"
/>
</owl:Class>
<owl:Class rdf:ID="FE & X sHE">
<rdfslabel>EE R T </rdfslabel>
<rdfs:subClassOf rdf:resource="# & &
FEFE" 1>
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:resource="#has_f et DFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_



WEtofEE"/>
<owl:allValuesFrom rdfiresource="#
FEERE" />
</owl:Restriction>

</rdfs:subClassOf>

</owl:Class>

<owl:Class rdf:ID="4%pz">
<rdfs:label>JF [z </rdfs:1abel>
<rdfs:subClassOf rdfresource="# — fi%
PR _mkR" />

</0W1 Class>

<owl:Class rdf: ID="—f¥ZL ">
<rdfs:label>—f& 2 FT</rdfs:label>
<rdfs:subClassOf rdfiresource="# — #i%

PERT_RkE" />

</owl:Class>

<owl:Class rdf:ID="4FE">
<rdfs:label>% & </rdfs:label>
<rdfs:subClassOf rdf:resource="#H "

/>

</owl:Class>

<owl:Class rdf:ID="#H B">
<rdfs:label>% A H</rdfs:label>
<rdfs:subClassOf rdf:resource="#H "

/>

</owl:Class>

<owl:Class rdf:ID="%">
<rdfs:label>#</rdfs:label>
<rdfs:subClassOf rdf:resource="#Ei 7"

/>

</owl:Class>

<owl:Class rdf:ID="%%">
<rdfs:label>ZE£i</rdfs:label>
<rdfs:subClassOf rdf:resource="#%£1" />

</owl:Class>

<owl:Class rdf:ID="H {}">
<rdfs:label>H f</rdfs:label>
<rdfs:subClassOf rdf:resource="#Ei{\["

/>

</owl:Class>

<owl:Class rdf:ID="/E#i">
<rdfs:label>/E#</rdfs:label>
<rdfs:subClassOf rdf:resource="#H "

/>

</owl:Class>

<owl:Class rdf:ID="8f4E aﬁEEB
<rdfs:label>EHEFHE E</rdfs:label>
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<rdfs:subClassOf rdfiresource="# [E &
MiERX BNREFR " />

</owl:Class>
<owl:Class rdf‘ID"‘*‘ﬂ%‘ﬁ%‘@??fﬁﬁB

<rdfs:label> — fix % & A # &
</rdfs:label>

<rdfs:subClassOf rdfiresource="# & &
HE" />

</owl:Class>
<owl:Class rdf: ID“"@ﬂEﬁgFﬁ FAE">

<rdfs:label> ® £ 2 & Br FH &
</rdfs:label>

<rdfs:subClassOf rdfresource="# & &
FE" />

</owl:Class>
<owl:Class rdf:ID="#igi{REE_ & A\{REE
EHE">

<rdfs:label>HIs (R - A RREEZRE
</rdfs:label>

<rdfs:subClassOf rdf'resource="# {# &
T}L n'{"—&‘"

<rdfs:subClassOf>

<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf'resource="#has_#tst OFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:iresource="#has_
ek DFERE" >
<owl:allValuesFrom rdfiresource="#
J@ et />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf ID="EA1TE R EHFI">
<rdfsilabel> & 4 1T Bt #Hh &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# 1% f&
BEErE" />



<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#i st DIELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
WErOFELE"/>
<owl:allValuesFrom rdfiresource="#
JE i RRET" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID=""RIEFHr K& NN TILHR
iR EE">
<rdfs:label> R EEF i & VA LiEIR i
ERFHEE</rdfs label>
<rdfs:subClassOf rdfiresource="# 1~ &F
FM R ONLTIERFHEER" />
</owl:Class>
<owl:Class rdf: ID="4— & A& fLE">

<rdfsilabel> ¥ — v X # fft F
</rdfs:label>

<rdfs:subClassOf rdfiresource="#3%E{£"
/>

</owl:Class> :
<owl:Class rdf:ID="Y—E A F|HE">

<rdfsilabel> ¥ — v X F| H F
</rdfs:label>

<rdfs:subClassOf rdfiresource="#3E {&"
/>

</owl:Class>

<owl:Class rdf:ID="#EF&">
<rdfs:label>B & </rdfs:1abel>
<rdfs:subClassOf rdf:resource="#  —

ERRIHE" 1>

</owl:Class>

<owl:Class rdf: ID="#% \REZELREHRE

7>
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<rdfsilabel>#& AR EXHE
</rdfs:label>
<rdfs:subClassOf rdfiresource="# ¥ A
RIEEZERE" >
</owl:Class>
<owl:Class rdf:ID="5£HT">
<rdfs:label>F i&hfi</rdfs:label>
<rdfs:subClassOf rdfiresource="# it &
EZ" />
</owl:Class>
<owl:Class rdf:ID="%— " A X FE">
<rdfsllabel> ¥ — v 2 ¥ # F
</rdfs:label>
<rdfs:subClassOf rdfiresource="#3 {K"

Bt

/>

</owl:Class>

<owl:Class rdf:ID="/\FF{K">
<rdfs:label>/A I & </rdfs:label>
<rdfs:subClassOf rdf:resource="#  —

B R RALE" />

</owl:Class>

<owl:Class rdf:ID="{%{EFF">
<rdfs:label>f#{&FT</rdfs:label>
<rdfs:subClassOf rdf:resource="# %l 18

R _Bem >

</owl:Class>

<owl:Class rdf ID="[E REFERKRF ">
<rdfsilabel> B R B E R KB F £ &

</rdfs:label>
<rdfs:subClassOf rdf:resource="# # —

B R ZENE" >

</owl:Class>

<owl:Class rdf: ID="{FE">
<rdfs:label>{¥ E</rdfs:label>
<rdfs:subClassOf rdfiresource="# H —

AR RE" >

</owl:Class>

<owl:Class rdf: ID="#0E/FI5_E & H">

<rdfs:label> # 1B &F B B 4 m
</rdfs:label> -

<rdfs:subClassOf rdf:resource="# 4\ 3t
FH " />

</owl:Class>

<owl:Class rdf:ID="T7 X BT #I">
<rdfs:label>7 X ET#f</rdfs:label>
<rdfs:subClassOf rdf:resource="# /A 3£



R />

</owl:Class>

<owl:Class rdf:ID="f{E¥x o ¥ —">
<rdfs:label>tR{Et o # —</rdfs:label>
<rdfs:subClassOf rdf:resource="# i X

BTA />

</owl:Class>

<owl:Class rdf: ID="4}3 TEEHEE">
<rdfs:label>%}3& - fEE£EE </rdfslabel>
<rdfs:subClassOf rdfiresource="#H=%&"

/>

</owl:Class>

<owl:Class rdf:ID="Afz_APTEE">

<rdfs:label> APz « AFTHEZE </rdfs!label>
<rdfs:subClassOf rdf:resource="##£&"

/>

</owl:Class>

<owl:Class rdf:ID="E4 F@E&">
<rdfs:label>E 4 F{E4E </rdfs:label>

</owl:Class>

<owl:Class rdf:ID="HEif{7">
<rdfs:label>H{7</rdfs:label>

</owl:Class>

<owl:Class rdf:ID="%E{K">
<rdfs:label>ZE{f</rdfs1abel>

</owl:Class>

<owl:Class rdf:ID="7&Z2Hc51">
<rdfs:label>7& B He 5t </rdfslabel>
<rdfs:subClassOf rdf:resource="# #t =t

FE" 1>
<rdfs:subClassOf>

<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:resource="#has_ZE G [E #i"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>

<owl:onProperty rdfiresource="#has_

E i A 2" />

<owl:allValuesFrom rdfiresource="#
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JEER" />
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf-datatype="http//www.w3.0rg/2001/X
MLSchema#int'">
1
</owl:cardinality>
<owl:onProperty
rdfresource="#has_FKHAEEE">
</owl:Restriction>
</rdfsisubClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:ionProperty rdfiresource="#has_
RS TREEE">
<owl:allValuesFrom rdfiresource="#
FE" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="/@ H#5t+">
<rdfs:label>/E Hi#t 5t </rdfs:label>
<rdfs:subClassOf rdfresource="# %t £+
FE" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf-datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_ /& E#"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
EheEE" >
<owl:allValuesFrom rdfiresource="#
A" />
</owl:Restriction>
</rdfs:subClassOf>



<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_mK&FEFEE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>

<owl:Restriction>

<owl:onProperty rdf:resource="#has_

REREEE">
<owl:allValuesFrom rdf:resource="#
R
</owl:Restriction>
</rdfs'subClassOf>
</owl:Class>
<owl:Class rdf:ID="A O EIREFRE">
<rdfs:label> A\ 0 EhfEFR A </rdfs:label>
<rdfs:subClassOf rdfiresource="# A O
EhRE fREEFLETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#E 3 DOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has__
BeEtOFEFE"/>
<owl:allValuesFrom rdf:resource="#
feERE" 1>
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="4fmE">
<rdfs:label>% fyF</rdfslabel>
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<rdfs:subClassOf rdf:resource="# A O
EhRe_tREREER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:iresource="#has_#EEtDOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
wetofErE" >
<owl:allValuesFrom rdfiresource="#
ITHEE" 1>
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="A O ENRERFERIR ">
<rdfsilabel> A 0O B ¥ & %% B &
</rdfs:label>
<rdfs:subClassOf rdf:resource="# A O
e _(REFEER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:resource="#has_#E st DFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
WwEtoREE">
<owl:allValuesFrom rdfiresource="#
N THEE" />
</owl:Restriction>

</rdfs:subClassOf>



</owl:Class>
<owl:Class rdf:ID="[EEf_th £} ELT_ZEHIAH
FAE">

<rdfs:label>[EfT - B FERT - EAENRE
</rdfs:label>

<rdfs:subClassOf rdfiresource="# {& {&
WEFE" />

<rdfs:subClassOf>

<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t s+ DOFEIE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>

<owl:Restriction>

<owl:onProperty rdf:resource="#has_

WEtOEEE">
<owl:allValuesFrom rdf:resource="#
JE HAEET" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf ID="1cLLR# ">
<rdfs:label>mHFEHi et </rdfs:label>
<rdfs:subClassOf rdf:resource="# & {&
WEETE" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t &t DOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>

<owl:onProperty rdfiresource="#has_

R OTESR"/>

<owl:allValuesFrom rdfiresource="#
JiB TR />
</owl:Restriction>
</rdfs:subClassOf>
</fowl:Class>
<owl:Class rdf: ID="FHEEEFERE (B
PERERMETHRE) ">
<rdfs:label>RFHAEIRFEF RS (BERE
Rt E) </rdfsilabel>
<rdfs:subClassOf rdf:resource="# % {&
FEtE" 1>
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:resource="#has_#t 5+ DFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
HeEF OTEIR" />
<owl:allValuesFrom rdfiresource="#
JE AR >
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="#E{RIEEFLHE (£
ETEE®E) ">
<rdfs:label>H R IEFELEHE (RIEFTHE
BEE#E) </rdfsilabel>
<rdfs:subClassOf rdf:resource="# & &
BLEt=E" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf-datatype="http://www.w3.0org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t 5+ DFEE"/>
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</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
HEtOFELEE"/>
<owl:allValuesFrom rdfiresource="#
JE AR >
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="#sHEHRZ ">
<rdfs:label>#t5HE HiFl</rdfslabel>
<rdfs:isubClassOf rdfiresource="# K &
BEB" />
</owl:Class>
<owl:Class rdf:ID="A O &hRE_{REEHETER
">
<rdfslabel> A 0 & F& - fR ¥ 51 &R
</rdfs:label>
<rdfs:subClassOf rdf:resource="# #t &t
fEHREL" />
</owl:Class>
<owl:Class rdf: ID="t&#EH5R">
<rdfslabel>ft&#ciHER</rdfslabel>
<rdfsisubClassOf rdf:resource="# #t &t
TFERE" >
</owl:Class>
<owl:Class rdf: ID="EEREEZ">
<rdfs:label>E REEE </rdfs!label>
<rdfs:subClassOf rdfiresource="# {% f&
WEt=E" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t st DFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
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EEFOFEEE">
<owl:allValuesFrom rdfiresource="#
MILHEE" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdfID="J1 &V — " A fig%_
EFTRE">
<rdfs:label>/r ¥ — & A Mgk - EHETH
ZE</rdfs:label>
<rdfs:subClassOf rdfiresource="# - &
WETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#E st DOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
HEFDFEIE"/>
<owl:allValuesFrom rdf:resource="#
FRMEEL />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="_21 H{2&r4 RHEHTE
="
<rdfslabel>21 i f2 7 4 I8 HE B 38 &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# tt £
WERHER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty



rdfiresource="#has_#E st OELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
WEFOFEEE"/>
<owl:allValuesFrom rdfiresource="#
FABLET" />
</owl:Restriction>
</rdfsisubClassOf>
</owl:Class>
<owl:Class rdf:ID="_21 4 EE MK

En>
<rdfs:label>21 th#C K EH HEBE A E
</rdfs:label>

<rdfs:subClassOf rdfiresource="# #+ &
KLEtER" 1>
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_FEOFEE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
HEtOfEE">
<owl:allValuesFrom rdf:resource="#
TRERALET" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="H FEE R E">
<rdfsilabel> H &= £ F Mt Wr 38 &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# #t &
WLETRR" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf'resource="#has_# st DIELE"/>
</owl:Restriction> “
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
et o fEE" >
<owl:allValuesFrom rdf:resource="#
HRERHEET" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="1E4L1T B R & F">
<rdfs:label> & #t 1T B ® & 4
</rdfs:label>
<rdfs:subClassOf rdfiresource="# #t &
HETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#EEt OEHE">
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
WEET OFELE"/>
<owl:allValuesFrom rdfiresource="#
JE e />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class> ‘
<owl:Class rdf:ID="f&EEDEITEHIH
>
<rdfsllabel> S EFEZET AN AL
</rdfs:label>
<rdfs:subClassOf rdfiresource="# %t <
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HEHER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_Ft et DOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>

<owl:Restriction>

<owl:onProperty rdf:resource="#has_

HErOTEEE">
<owl:allValuesFrom rdfiresource="#
JE HFEE" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID="/1#/ 1B EEFRE">
<rdfsilabel> /I E B B E B HA &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# & &
WEETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#tEt OFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
HEtOTEE" />
<owl:allValuesFrom rdf:resource="#
& HFEE" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>

<owl:Class rdf: ID="ERAIEEFERAEE">

<rdfsilabel> B R A FEBHFE =
</rdfs:label>

<rdfs:subClassOf rdf:resource="# - &
FEETER" />
</owl:Class>
<owl:Class rdf:ID="[E EA & EEHE">

<rdfs:label> EAFEEM#HERAL
</rdfs:label>

<rdfs:subClassOf rdf:resource="# [E K
EIEEBAEE" />

<rdfs:subClassOf>

<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_# 5t DOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
WErOFEE">
<owl:allValuesFrom rdfiresource="#
BEME" 1>
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="/1#& ¥ — " A HHHFHE
">
<rdfslabel> /T # ¥ — £ At w A E
</rdfs:label>
<rdfs:subClassOf rdfiresource="# [E &
ATEEBEREE" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
ik
</owl:cardinality>
<owl:onProperty
rdf:resource="#has_#% 5+ DOFELE"/>



</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
wEofEE" >
<owl:allValuesFrom rdfiresource="#
ARRRHLET" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="J& F#tFtsE">
<rdfs:label>fE B #tEtER</rdfslabel>
<rdfs'subClassOf rdfrresource="# %t &t
FERE" 1>
</owl:Class>
<owl:Class rdf: ID="% 8 &K tiAE">
<rdfsilabel> & A &) % #t & #H =&
</rdfs:label>
<rdfs:subClassOf rdf:resource="# &
HEETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:iresource="#has_#tst+ DFEE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
BEFOFELH"/>
<owl:allValuesFrom rdfresource="#
FEEHCE" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID="4EXZENMAE">
<rdfsilabel> % @& & & & M #A &
</rdfs:label>
<rdfs:subClassOf rdf:resource="# &
WEETER" />
<rdfs:subClassOf>
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<owl:Restriction>
<owl:cardinality

rdf'datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t st DOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
Bt OFEEE"/>
<owl:allValuesFrom rdfiresource="#
RERACE >
</owl:Restriction>
</rdfs:subClassOf>
</owl]:Class>
<owl:Class rdf:ID="7& F & s 2&">
<rdfs:label>/E g mFHE</rdfs label>
<rdfs:subClassOf rdfiresource="# & H
HEEHER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf-datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#Es+ DOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
WEFOFEEE"/>
<owl:allValuesFrom rdfiresource="#
AGRHEET" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID="E A#EEIZB3T 2HE
">

<rdfsilabel>E A& ICE TR/ E



</rdfs:label>
<rdfs:subClassOf rdfiresource="# & H
FeRrR" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t &t DFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>

<owl:Restriction>

<owl:onProperty rdfiresource="#has_

Wt OFELE">
<owl:allValuesFrom rdf:resource="#
RERACE" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="3EFRERIZEET 57
">
<rdfsilabel>E EHEAICET 2R/ E
</rdfs:label>
<rdfs:subClassOf rdfresource="# & H
HEETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t et DOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
e OFERE" >
<owl:allValuesFrom rdfresource="#

AGRBLE" />

</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID="EXHBH=IFHRE">
<rdfsilabel> £ % % B F F # &
</rdfs:label>
<rdfs:subClassOf rdfiresource="#JE H
FLETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:resource="#has_t 5t DFEIE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owlionProperty rdf:iresource="#has_
WEFOFEEE"/>
<owl:allValuesFrom rdf:iresource="#
TRFRHEET" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="FE & FFHE">
<rdfs:label>JE A& B E</rdfs:label>
<rdfs:subClassOf rdfiresource="# & H
FETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:iresource="#has_#ist DO FELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:ionProperty rdf:resource="#has_



WLEtoOFEEE">
<owl:allValuesFrom rdfiresource="#
TRERFLET" >
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID="& & E AL FT7E">
<rdfsllabel> & & & # #% Ft
</rdfs:label>
<rdfs:subClassOf rdfiresource="# %t =t
fHFEHRER" />
</owl:Class>
<owl:Class rdf: ID="E&#E EEAKFHE
">
<rdfsilabel> & & B EE AR HE
</rdfs:label>
<rdfs:subClassOf rdfiresource="# & &
fBALATEER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

g%

rdf:datatype="http//www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#E gt DOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
ErOFELE"/>
<owl:allValuesFrom rdfiresource="#
fEERET" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf ID="Z5} HEETRFER &4
FE">
<rdfs:label>ZE S H B EBERN S &FE
</rdfs:label>
<rdfs:subClassOf rdfiresource="#& &
EUEHEE R />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality
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rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t &+ DFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfresource="#has_
FEtofEE" >
<owl:allValuesFrom rdfiresource="#
EEME" >
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID="%& & A 455 FHE">
<rdfs:label> & & & £ ¥ 5] # &
</rdfs:label> ‘
<rdfs:subClassOf rdf:resource="# & &
EBUEFEELRR" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t s+ DIELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfsisubClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
e ofEE >
<owl:allValuesFrom rdfiresource="#
PR />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="3EZ 2 EERXFHE
">
<rdfs:label> % 8 % & & 4£ £ K
</rdfs:label>

A



<rdfs:subClassOf rdfiresource="# % &
BEARRRE" >
</owl]:Class>
<owl:Class rdf: ID="4EREFRE">

<rdfs:label>% BIFRE R E </rdfs:label>

<rdfs:subClassOf rdfiresource="# & £
BEAESRFRE" />
</owl:Class>
<owl:Class rdf:ID="% & EERLFHE">

<rdfsllabel> 57 8 & & FE R L A &
</rdfs:label>

<rdfs:subClassOf rdfresource="# %
BESFRIFRE" >
</ow]:Class>
<owl:Class rdf:ID="#{iT &% & F @I
% EREHE">

<rdfslabel>F M EH & HEIZET HE
ReFEE </rdfs:label>

<rdfs:subClassOf rdfiresource="# % &
BERRAE" >
</owl:Class>
<owl:Class rdf:ID="E% £ 7 K EFH 1L Xt
RER A EREFHE">

<rdfslabel>E R EF B K EH LR E
A EEFHA</rdfslabel>

<rdfs:subClassOf rdfiresource="# %
BAERRERE" />
</owl:Class>
<owl:Class rdf:ID="
EE4ER&E">

<rdfslabel>& &5 LITEDE
A </rdfs:label>

<rdfs:subClassOf rdfiresource="# & &
BT ER" />

<rdfs:subClassOf>

<owl:Restriction>
<owl:cardinality

=

=

B&5| LIFEDERIC

et |
BE |

BT

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#tst OFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
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<owl:Restriction>
<owlionProperty rdf:resource="#has_
HEFOELE"/>
<owl:allValuesFrom rdfiresource="#
AFRHE />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID‘“"E"")E% FHERERE">
<rdfsilabel> Bt %% &£ H K & R &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# &
fEALFRETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

ll

I

\l!&

0

g

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_H¥EEr OIELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_

HEErOTEEE"/>

<owl:allValuesFrom rdf:resource="#
AGRHEE" 1>
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="71& 5 E&hmFHLE">
<rdfsllabel> %5 @ ¥ E & m #A &
</rdfs:label>
<rdfs:subClassOf rdf:resource="# & &
BALREETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty



rdf:resource="#has_ st DFELEH"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
WEET OFELE"/>
<owl:allValuesFrom rdfiresource="#
AGRBCEL" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID=" @& ErEHE">
<rdfs:label> 7 f& fﬂ EE#BHREE
</rdfs:label>
<rdfs:subClassOf rdf'resource="#&
BULFEETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:resource="#has_#E et OFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owlionProperty rdfiresource="#has_
e oFERE" >
<ow1 allValuesFrom rdfiresource="#
VEEY Rt >
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID="EREFH&">
<rdfs:label>ZErEFHE </rdfslabel>
<rdfs:subClassOf rdf:resource="# & &
EUEFEETER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
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1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t et DFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
FeEt OFEEE" />
<owl:allValuesFrom
FRTORLET" />
</owl:Restriction>
</rdfsisubClassOf>
</owl:Class>
<owl:Class rdf:ID="% @S58

">

rdf:resource="#

ERSHE

<rdfsilabel> 5 B S EEIERFA L
</rdfs:label>

<rdfs:subClassOf rdfiresource="# 3 §&
FE" />

</owl:Class>
<owl:Class rdf: ID="4EF & EREFHE">
<rdfslabel> % B H N & £ /&
</rdfs:label>
<rdfs:subClassOf rdfiresource="# & §&
FE" 1>
</owl:Class>
<owl:Class rdf ID="F{&%s#: & HEISEEIC
B9 5% _REHE"
<rdfslabel>[{& A & FEFEICEE T
5 E EEFFE</rdfs1abel>
<rdfs:subClassOf rdfiresource="# & f&
FE" />

</owl:Class>

<owl:Class rdf:ID="9%{@#L & ErEFHE">
<rdfs:label> % f# #H & £ # A &
</rdfs:label>
<rdfs:subClassOf rdf:resource="# E &&
FHE" />

</owl:Class>

<owl:Class rdf!ID="3fF 2 I 2=/ —3 37

VERE">
<rdfs:label>%{f =

E</rdfslabel>
<rdfs:subClassOf rdfresource="# = %

FE" />

:1:/7"““:/5 ‘/%}E

i



</owl:Class>
<owl:Class rdf:ID="# % EE BFER &
B>

<rdfslabel>MHEFBERENERTE
</rdfs:label>

<rdfs:subClassOf rdfiresource="# & &
B >

<rdfs:subClassOf>

<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#EtDOFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
WatootEE"/>
<owl:allValuesFrom rdf:resource="#
FRERHEET" 1>
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID="4 @1 FEFE1HE">
<rdfsilabel> % @ & & % 5 A &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# & &
EaLFEEER" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_# st OFEE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
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WwEtOFEE">
<owl:allValuesFrom rdfiresource="#
JE HHEE" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID=" (EE ) ">
<rdfs:label> (EEE) </rdfs:label>
<rdfs:subClassOf rdfiresource="# [E B
/">
</owl:Class>
<owl:Class rdf:ID="fgE&E ">
<rdfs:label>{5 & #</rdfs1abel>
<rdfs:subClassOf rdf:resource="# (EE
) "> ‘
</owl:Class>
<owl:Class rdf:ID="4% i & N ZFHE">
<rdfslabel> 7% [ & B X X #A &
</rdfs:label>
<rdfs:subClassOf rdf:resource="# #5 &
B>
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:iresource="#has_# st DFEFE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
WETOEE"/>
<owl:allValuesFrom rdfiresource="#
RTSHEE" 1>
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf- ID="#E 1 X EFHE">
<rdfslabel> & E # X % 3/ &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# fig &
1" />



<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_#t 5t DFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owlionProperty rdf:resource="#has_
Bt ofExE" >
<owl:allValuesFrom
JiB HBET" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>

rdfiresource="#

<owl:Class rdf:ID="Fz RS ER—~ A4
=7 A"
<rdfs:label>FE RGeSt R — 1 T >

A<frdfs:label>
<rdfs:subClassOf rdfiresource="# fg &
">
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdf:resource="#has_#t &t DFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
BLat OFELE"/>
<0W1 allValuesFrom rdfiresource="#
n u r VL n+“ / >
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>

<owl:Class rdf ID="tEFHMEEE">
<rdfs:label>tH B EHE</rdfslabel>
<rdfs:subClassOf rdfiresource="# (E B

&) ">

</owl:Class>

<owl:Class rdf:ID="tFFlE B E L? A

<rdfsilabel> # £} % £ E #£ #H &
</rdfs:label>

<rdfs:subClassOf rdfresource="# & &}
PRIER" />

<rdfs:subClassOf>

<owl:Restriction>
<owl:cardinality

rdf'datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_ s+ DFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
WEOFESE" />
<owl:allValuesFrom rdfiresource="#
AR />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf: ID="#E 5% = # X ZFH2&">
<rdfsilabel> & tf £l E # X & 3§ &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# t %}
PRIEFR" />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty

rdf:resource="#has_#E st DIELE"/>

</owl:Restriction>

</rdfs:subClassOf>



<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdfiresource="#has_
GratoREE"> |
<owl:allValuesFrom rdf:resource="#
JeB HAEET" />
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="FEERF">
<rdfs:label>fE R F</rdfsllabel>
<rdfs:subClassOf rdfiresource="# & 4
FEE" >
</owl:Class>
<owl:Class rdf:ID="#A%:& (ERER) ™

<rdfsilabel> ¥ B & (B E B )
</rdfs:label>

<rdfs:subClassOf rdf:iresource="# ({ZF
=) ">

</owl:Class>

<owl:Class rdf: ID="A{EE BHEIERE">
<rdfsilabel> 4 & B B B xt ® =

</rdfs:label>
<rdfs:subClassOf rdfresource="# ¥ %

B O(EER) "/~

</owl:Class>

<owl:Class rdf: ID="EZE& & FH">
<rdfs:label>E & & FH</rdfslabel>
<rdfs:subClassOf rdfresource="# & &

FEE" 1>

</owl:Class>

<owl:Class rdf:ID="1If1if& % & E">
<rdfs:label> M T xR iR </rdfslabel>
<rdfs:subClassOf rdf:resource="# (EZ

ERE) ">

</owl:Class>

<owl:Class rdf: ID="& L& L5">

<rdfs:label>& L2 £&</rdfslabel>

<rdfs:subClassOf rdfiresource="# [&E 3

B E" >

</owl:Class>

<owl:Class rdf:ID="ES R & 2FH">
<rdfs:label>E R Z £ </rdfs!label>
<rdfs:subClassOf rdfiresource="# & dn

" >

</owl:Class>

<owl:Class rdf:ID="4@ FELEF">
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<rdfs:label>% B ZE F</rdfs:1label>
<rdfs:subClassOf rdf:resource="# & &

FEE" 1>

</owl:Class>

<owl:Class rdf:ID="#% & £ JGFEL">
<rdfs:label>#) 5% F A & E</rdfs1label>
<rdfs:subClassOf rdfiresource="# % &

EER" 1>

</owl:Class>

<owl:Class rdf ID="8% & £ JE5E">
<rdfslabel>#) % & A iEiR</rdfs:label>
<rdfs:subClassOf rdf:resource="# % %

FAEEL" >

</owl:Class>

<owl:Class rdf:ID="% @& £ E">
<rdfs‘label>% Ef £ </rdfslabel>
<rdfs:subClassOf rdfresource="# %= £

BEE" 1>

</owl:Class>

<owl:Class rdf: ID="H}ZEZ ER">
<rdfs:label>kFE % E F</rdfs:label>
<rdfs:subClassOf rdfiresource="# & 4

FEE" >

</owl:Class>

<owl:Class rdfID="7& F B RiR">
<rdfs:label>/E B K iE</rdfs:label>
<rdfs:subClassOf rdf:resource="# (F&z£

ZER) ">

</owl:Class>

<owl:Class rdf:ID="FE F B 3858 ">
<rdfs:label>/& F B F 8 </rdfs:1abel>
<rdfs:subClassOf rdf:resource="# (F&3£

ZER) ">

</owl:Class>

<owl:Class rdf: ID="&FEE A HK=E">
<rdfsilabel> & & F B A *t ® £

</rdfs:label>
<rdfs:subClassOf rdf:resource="#J& H

BAFEER" />

</owl:Class>

<owl:Class rdf ID="Fs%_ HEEXIRE">

<rdfslabel> #& & BE XK=
</rdfs‘label>

<rdfs:subClassOf rdfiresource="#J& H
BAZEER" />

<fowl:Class>



<owl:Class rdf:ID="& LU E Bt E=">
<rdfsilabel> & U & E A % | =
</rdfs:label>
<rdfs:subClassOf rdfiresource="# & F
BHFEER" />
</owl:Class>

<owl:Class rdfID="5 i _BEEETEHXER

0
<rdfs:label> & #r - [EEF E F X R 5
</rdfs:label>
<rdfs:subClassOf rdfiresource="# Hg 3%
ZER" I>

</owl:Class>

<owl:Class rdf: ID="FEEE & % Faa">
<rdfsilabel> & £ F E A xf & #

</rdfs:label>

<rdfs:subClassOf rdfiresource="#= 5 _

FEEETE AR ERE" />
</owl:Class>
<owl:Class rdfID="E Y% _REFRER
">
<rdfsllabel>E A ¥ % - &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# & 4
FEE" >
</owl:Class>
<owl:Class rdf'I
FRER) ">
<rdfs:label>RBEE (ERAWE - REFE
&) </rdfslabel>
<rdfs:subClassOf rdf'resource="# (J&H
BWeE REFER) ">
</owl:Class>
<owl:Class rdf: ID="1 LB R ">
<rdfsilabel> B A ¥ % EH &K
</rdfs:label>
<rdfs:subClassOf rdfiresource="# (J&H
W% REFER) "/>
</owl:Class>
<owl:Class rdf:ID="FE[_fEE 5 @E">
<rdfs:label> & ¥ ] « £ £ % & &
</rdfs:label>
<rdfs:subClassOf rdfiresource="# (&8
BWE REFER) "/>
</owl:Class>
<owl:Class rdf: ID="tt%&_$Z#&F">

=R (BEAYE RE

R
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<rdfsllabel>ft £ - EE F</rdfs:label>
<rdfs:subClassOf rdfiresource="# & 4
FHEE" > '
</owl:Class>
<owl:Class rdf:ID="XKE B E">
<rdfs:label>KEE E</rdfslabel>
<rdfs:subClassOf rdfiresource="# & 4
FHEE" >
</owl:Class>
<owl:Class rdf: ID="#%E (L& _BHER)
">
<rdfs:label>#
</rdfs:label>
<rdfs:subClassOf rdf:resource="# ($-&
_BEER) ">
</owl:Class>
<owl:Class rdf:ID="HE & fL58">
<rdfs:label>HEkE 1R </rdfs 1label>
<rdfs:subClassOf rdf:resource="# (t+=
_BER) ">
</owl:Class>
<owl:Class rdf ID="{Z& > HFE">
<rdfs:label>$Z& o EFR</rdfs'label>
<rdfs:subClassOf rdf:resource="# (#+£&
_EER) ">
</owl:Class>
<owl:Class rdf: ID="tFE MR ExFE=">
<rdfs:label> & m R F kK
</rdfs:label>
<rdfs:subClassOf rdfresource="# 1% i#
EER" >
</owl:Class>
<owl:Class rdf: ID="15E{REEHLER">
<rvdfsilabel> £ £ H# B & 4
</rdfs:label>
<rdfs:subClassOf rdfiresource="##t<
BER" >
</owl:Class>
<owl:Class rdf:ID="1EE (L& EERE
EREEAEER) ">
<rdfsilabel>{EEFR (t2 - BERBEER
BRBHEES) </rdfsilabel>
<rdfs:subClassOf rdfiresource="# 1% =
PREEAEES" />
</owl:Class>
<owl:Class rdf: ID="#&F">

Tk (k& - BER)

oo

=



<rdfs:label>## F</rdfs:label>
<rdfs:subClassOf rdfiresource="# & 4

HEE" 1>

</owl:Class>

<owl:Class rdf:ID="# A frfEg">
<rdfs:label>¥# A\ frfEiR</rdfs:label>
<rdfs:subClassOf rdf:iresource="# (Z{&

B) ">

</owl:Class>

<owl:Class rdf:ID="/"E (- EFE">
<rdfs:label>/r# R iR </rdfslabel>
<rdfs:isubClassOf rdf:resource="# (Z{#&

B) ">

</owl:Class>

<owl:Class rdf: ID="5+®3E (E®RF) ">

<rdfslabel> 5t B 3 (EZ B B/ )
</rdfs:label>

<rdfs:subClassOf rdf:resource="# (FZf&
) ">

</owl:Class>
<owl:Class rdf:ID="{EEF (HLEHFEHREL)
">
<rdfs:label> 1= B 32 (#t & 1F & 30)
</rdfs:label>
<rdfs:isubClassOf rdfiresource="# #t &t
TBERE" />
</owl:Class>
<owl:Class rdf:ID="JFFrFAZE">
<rdfslabel>FElTFAE </rdfs:1label>
<rdfs:isubClassOf rdf:resource="# & &
FEE >
</owl:Class>
<owl:Class rdf:ID="F&E#">
<rdfs:label>F& # i </rdfs:label>
<rdfs:subClassOf rdf:iresource="# (E
&) ">
</owl:Class>
<owl:Class rdf ID="FEEIEFEKITA
IR O EA R ERAE">
<rdfslabel>F #E M EFR BRI AFER
kO REA R ERFAE</rdfs label>
<rdfs:subClassOf rdfiresource="#%& &
ZHn />
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality
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rdf:datatype="http//www.w3.0org/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has et OFEE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#has_
BLET DOFELE"/>
<owl:allValuesFrom rdfiresource="#
AGRHEE" 1>
</owl:Restriction>
</rdfs:subClassOf>
</owl:Class>
<owl:Class rdf:ID="FFFiR">
<rdfs:label>#% % R </rdfs:label>
<rdfs:subClassOf rdf:resource="# (EE
&) ">
</owl:Class>
<owl:Class rdf:ID="#EFE T 4 EFEKET
AE">
<rdfsilabel>Z E T XA EEERHRAE
</rdfs:label>
<rdfs:subClassOf rdfiresource="# & #&
R >
<rdfs:subClassOf>
<owl:Restriction>
<owl:cardinality

rdf:datatype="http://www.w3.0rg/2001/X
MLSchema#int">
1
</owl:cardinality>
<owl:onProperty
rdfiresource="#has_# st OFELE"/>
</owl:Restriction>
</rdfs:subClassOf>
<rdfs:subClassOf>
<owl:Restriction>
<owlionProperty rdf:resource="#has_
Rt OFEEH"/>
<owl:allValuesFrom rdf:resource="#
EERE" >
</owl:Restriction>
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